Rešenja ispitnih zadataka ( 18. 04.2007.)

1. Epo = 0, Eko = mvo2 /2          
      Ep= mgh , Ek = mv2/2

      Eko = Ek + Ep                  ;  Ep = mgh = 54J
      Ek = Eko – Ep
Ek = 78,125J – 53,955J = 24,17J

    Za h = hmax  , t = tp , v = 0

     O = v0 – gtp 

    tp = vo/g = 2,55 s

tuk = 2tp = 5,1 s

2. Fmax = - mω2 x0 = - 3,2(10 -3 N = - 3,2 mN
      Ekmax = m ω2x02/2 = 6,38(10 -5 J = 63,8 μJ
      Ek = Ekmax   pri prolasku oscilatora kroz ravnotežni položaj.

     3.  ( = (oc/ ( c + vb)    ;      c = co (T/ 273K)1/2 = 347, 5 m/s
     vb = (oc/( - c     ;      vb = 4,4 m/s
     4.   1/f = ( n1/n2 – 1 )(1/∞ - 1/R) = - ( n1 – n2 )/n2R
      f = - n2R / ( n1 – n2 ) = - 98,5 cm

5.  E1 = ( T14  → T1 = ( E1/ ()1/4 = 1950 K

     E2 = (T24   → T2 = ( E2/ ()1/4 = 974K

     ΔT = 976K

6 . Nr = mNa( 1 – 2 – t/T)/M = 2,94(1018
